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A LEVEL ECONOMICS COMPONENT 3

All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1 (a) 544 4.4 2.6 10 43.5 53
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (a) Explain why demand curves slope downwards from left to right and supply

curves slope upwards from left to right. [10]
AO1 AO3
Band 6 marks 4 marks
3 5-6 marks

Excellent understanding

Excellent understanding of the
economic theory relating to the slopes
of demand and supply curves

Both demand and supply curves are
covered comprehensively

2 3-4 marks 3-4 marks
Good understanding Good analysis
Good understanding of the economic Good analysis of why demand and
theory relating to the slopes of demand | supply curves slope downwards and
and supply curves upwards to the right
The answer may lack a little range or There is a clear analysis of how a
depth and coverage of either demand change in price will affect quantity
or supply curves may be limited demanded and supplied

Diagrams may be used to support the
analysis

1 1-2 marks 1-2 marks
Limited understanding Limited analysis

Limited understanding of the economic | Limited analysis of why demand and
theory relating to the slopes of demand | supply curves slope downwards and
and supply curves upwards to the right

The answer may amount to a little more | The analysis of the link between a
than a few assertions and coverage of | change in price and quantity demanded

economic theory is very superficial and supplied is limited

0 0 marks 0 marks
No knowledge or understanding No valid analysis present
present

Indicative content:

Demand curve sloping down to the right explained by marginal utility analysis, substitution
and income effect.

Demand curve is derived from consumers’ marginal utility. Substitution effect - as price falls
guantity demanded increases as the price of substitutes is relatively higher. Income effect —
as price falls real income rises and thus if the product is a normal good quantity demanded
increases.

Supply curves slope upwards to the right because at higher prices firms make higher profit
and thus there is an incentive to increase quantity supplied. As quantity increases in the
short run marginal costs increase (diminishing returns to a factor) thus higher prices are
needed to cover increased marginal costs.





1 (b) “Arise in price always leads to a fall in quantity demanded but a rise in demand
always leads to a rise in price and a rise in quantity.” With the aid of diagrams evaluate

this statement. [20]
AO1 AO3 AO4
Band 6 marks 6 marks 8 marks

3 5-6 marks 5-6 marks 6-8 marks
Excellent understanding Excellent analysis Excellent evaluation
An excellent understanding of the | An excellent analysis of how A critical evaluation.
difference between shifts and changes in price affect quantity
movements along a demand demanded and how changes in Evaluative points are well
curve. demand impact on price and developed and relevant

quantity. diagrams are well
There is a broad and integrated and support the
comprehensive coverage with no | Learner has a clear line of evaluation.
significant omissions. argument to explain how

economic theory can explain the Learner demonstrates
Accurate diagrams with no statement and may use clearly that the statement
significant errors are drawn appropriate examples. is not accurate in all
which show the learner fully circumstances.
understands the concepts being | Accurate and relevant diagrams
tested. will support the analysis and these

are well integrated into the

answer.

2 3-4 marks 3-4 marks 3-5marks
Good understanding Good analysis Good evaluation
Good understanding is shown of | A good analysis of how changes A good evaluation.
the difference between shifts and | in price affect quantity demanded | Evaluative points may not
movements along a demand and how changes in demand always be fully rounded.
curve. There may be some lack impact on price and quantity.
of depth in the answer. Diagrams are relevant to

Analysis may lack depth and the evaluation but may
Diagrams are generally accurate | diagrams not always be well contain minor errors or
but have minor errors. Diagrams | integrated or completely correct or | could be better integrated
may not be fully integrated into key points are missing. to the written answer.
the answer.

1 1-2 marks 1-2 marks 1-2 marks
Limited understanding Limited analysis A limited evaluation
Limited understanding of the A limited analysis of how changes | A basic attempt is made
difference between shifts and in price affect quantity demanded | to show that the statement
movements along demand and how changes in demand is not always correct but
curves. There will be gaps in impact on price and quantity. there is a tendency to just
knowledge and understanding. make assertions.
Diagrams may either not be The answer lacks key economic
present or be inaccurate. concepts and avoids technical Diagrams are either

analysis. Diagrams are either absent, incorrect, or not
inaccurate or absent or don’t integrated to the written
support the analysis. answer.

0 0 marks 0 marks 0 marks

No knowledge or understanding
is shown.

No relevant analysis

No valid evaluation
present.






Indicative content:

Rise in price leads to a fall in quantity demanded — relate to substitution and income effects.
Diagram showing a fall in quantity demanded as a result of a shift to the left of the supply
curve.

Price

[ |

:

Quantity

Copyright: www.economicsonline.co.uk

If there is a rise in demand then the demand curve shifts to the right leading to a rise in
quantity. Learner explains the process that leads to this i.e. price cannot remain at P
otherwise there would be excess demand.

o

Q o Quantity

Copynght: www.economicsonline.couk

Rise in price does not always lead to a fall in quantity demanded if demand is perfectly price
inelastic.

Figure 4-4 A Perfectly Inelastic
Demand Curve
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Reward learners who explain and draw perverse demand curves e.g. Giffen and Veblen
goods.

Price

O M
Fig. 8.4 Quantity

A rise in demand will lead to a rise in price alone if supply is perfectly price inelastic.
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Fig. 8.3 Quantity

A rise in demand will lead to a rise in quantity alone if supply is perfectly price elastic.
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Sticky Note

This is a good answer with the first paragraph on the demand curve making sound use of marginal utility theory. The second paragraph on the supply curve fails to include reference to diminishing returns to a factor and rising marginal cost – both of which impact on the shape of the short run supply curve.
A01 4 AO3 3 = 7
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Sticky Note

A competent answer with a number of relevant diagrams well featured although they are a little small. The first two diagrams omit the relevant supply curves and the candidate fails to explain the process at work when a rise in demand or supply leads to a change in price ie exactly how does a price change occur when there is a change in the conditions of demand or supply? The use of examples is generally good especially the reference to Veblen goods, although the section on water is rather confusing in places.
AO1 4 AO3 5 AO4 5 = 14.
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Sticky Note

Q1(a)
There is a decent understanding of how marginal utility affects the shape of the demand curve, but the supply curve is treated rather superficially relying on the basic idea that a rise in price encourages firms to supply more because greater profits can be made. There is nothing on rising MC linked to diminishing returns to a factor.
AO1 3 AO3 3 = 6.
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Sticky Note

The diagrams are badly labelled and don’t include supply curves which is a pity as a number of accurately drawn and integrated diagrams are an important requirement of this question. The candidate does not explain the process by which price or quantity rises when there are shifts in demand and supply curves. A range of different scenarios are introduced which are credit worthy although the impact of a rise in demand when supply is perfectly elastic is not included.
AO1 3 AO3 3 AO4 4 = 10
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Sticky Note

This is a rather generalised answer lacking the theoretical analysis needed. There is some mention of utility but it is not really answering the question. There is also an attempt to explain why a rise in price leads to a rise in quantity supplied but it is rather superficial.
AO1 2 AO2 2 = 4
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Sticky Note

There are some valid points included at the start of the answer although the supply curve is missing from the first diagram. The process of how price and quantity change when shifts in demand and supply curves occur was not explained. There is a section on inferior goods which does not contribute anything but the introduction of Veblen goods is credit worthy. There is no coverage of issues relating perfectly inelastic demand or perfectly elastic supply.
AO1 3 AO3 3 AO4 2 = 8











1. CHANGES IN PRICE AND DEMAND AFFECT MARKETS IN DIFFERENT WAYS

(@) Explain why demand curves slope downwards from left to right and supply curves slope
upwards from left to right. [10]

(b) “Arise in price always leads to a fall in quantity demanded but a rise in demand always
leads to a rise in price and a rise in quantity.” With the aid of diagrams evaluate this

statement. [20]
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4 (a) Explain why unemployment creates social and economic costs.

[10]

AO1 AO3
Band 6 marks 4 marks
3 5-6 marks
Excellent understanding
Learner has an excellent understanding of
the major costs of unemployment and has
explained clearly why these costs may
arise from unemployment.
A top band response will have a well-
developed understanding of several costs
of unemployment.
Lower in this band the response will have
fewer costs developed, or development of
a wider range may not be rather
superficial.
2 3-4 marks 3-4 marks
Good understanding Good analysis
Answers in this band will have fewer costs | Each cost of unemployment is explained
developed than a band 3 answer or in detail analysing its impact on
development of a wider range may not be | individuals or society.
so full.
There are clear lines of reasoning
between unemployment and how it
impacts on the economy and society.
1 1-2 marks 1-2 marks
Limited understanding Limited analysis
Learner can only demonstrate a narrow Limited analysis of how unemployment
knowledge of the costs of unemployment | imposes costs on individuals and
and depth of understanding may be society.
limited.
Some linkage between unemployment
and its impact on the economy and
society.
0 0 marks 0 marks

No knowledge or understanding present.

No valid analysis present.






Indicative content:

Loss of earnings to the unemployed. Unemployment is one of the biggest causes of poverty
and homelessness.

Depression, mental anxiety and health problems are higher among the unemployed. Costs
to the NHS and society (external costs).

Long term unemployed find it difficult to get jobs deskilling/hysteresis.

Loss of tax revenues for the government and higher spending on unemployment related
benefits — worsening of the fiscal deficit.

Lower GDP for the economy, loss of output, not working at full capacity thus not productively
efficient.

Increased crime, vandalism, alienation.





4 (b) “Itis possible to reduce the natural rate of unemployment/NAIRU but not possible to reduce

unemployment below the natural rate/NAIRU.” Evaluate this statement. [20]
AO1 AO3 AO4
Band 6 marks 6 marks 8 marks
3 5-6 marks 5-6 marks 6-8 marks
Excellent understanding Excellent analysis Excellent evaluation
An excellent understanding of An excellent analysis of why the | An excellent critical evaluation.
the concept of natural successful implementation of
unemployment. supply side policies will reduce Evaluation points are well
the natural rate of developed showing why the
Several labour market supply unemployment. statement may not be correct.
side policies identified which
demonstrate how natural Learner has a clear line of An overall judgement may be
unemployment can be reduced. | argument to explain how these included which draws together
policies will reduce natural issues from both sides of the
Learner shows an excellent unemployment and why argument.
understanding of how these attempts to reduce
policies will reduce natural unemployment below the natural | There is an integrated approach
unemployment. rate will be unsuccessful. to evaluation.
Learner shows understanding of | Answers in this level will use
why attempts to reduce appropriate diagrams to support
unemployment below the natural | their analysis and integrate them
rate will not succeed. into the text of the answer.
2 3-4 marks 3-4 marks 3-5 marks
Good understanding Good analysis Good evaluation
A good understanding of the A good analysis of why the Evaluation questions the
concept of natural successful implementation of accuracy of the statement but
unemployment. supply side policies will reduce answers in this level will lack a
the natural rate of fully rounded approach to the
Some labour market supply side | unemployment and why question.
policies are identified which attempts to reduce
demonstrate how natural unemployment below the natural | Evaluation may be a little
unemployment can be reduced. | rate will be unsuccessful. fragmented and less integrated.
There may be a lack of Some analysis will lack depth
development or few policies are | and diagrams may contain minor
identified. errors or not be well integrated.
1 1-2 marks 1-2 marks 1-2 marks
Limited understanding Limited analysis Limited evaluation
A limited understanding of the Limited analysis of how supply A basic attempt is made to show
concept of natural side policies will reduce natural that the statement can be
unemployment. unemployment and why challenged.
attempts to reduce
Supply side policies are unemployment below the natural | Points are qualified to a limited
identified but understanding of rate will be unsuccessful. extent but there is little depth of
their link to the reduction of explanation.
natural unemployment is not Analysis is brief and superficial.
shown.
There is little use of economic
There may be a tendency to theory or technical analysis.
merely produce assertions.
0 0 marks 0 marks 0 marks

No knowledge or understanding
present.

No relevant analysis.

No valid evaluation present.






Indicative content:
Natural unemployment: the level of unemployment when the labour market is in equilibrium.

Supply side policies will reduce the natural rate of unemployment — trade union reform,
increased skill levels, improved mobility of labour, benefit reform, better job information etc.
Explanation of how these policies enable workers to compete more effectively in the labour
market and reduce structural, frictional, real wage and voluntary unemployment.

Use of the LRPC and/or LRAS curve diagram.

Attempts to reduce unemployment below the natural rate through increased government
spending will lead to higher inflation and no permanent fall in unemployment. Use of
LRPC/SRPC analysis — adaptive expectations. Reward candidates who take an approach
using rational expectations theory.

LRPC
10 E
Inflation
rate (%)
5 [+
SRPC3
2
0 \\\x SRPCz2
3 ]
SRPCH

Unemployment rate (%)

With adaptive expectations theory there is a short term fall in unemployment below the
natural rate when governments reflate AD.

Keynesian viewpoint is that reflation does not cause inflation and leads to a fall in
unemployment. There is a long run trade-off between unemployment and inflation.

The concept of natural unemployment is challenged by some economists.










Write the two digit question
number inside the boxes next Answer
to the first line of your answer

L a

Leave

blank

o

WW@M‘M%WMJMLQ

This 2wkl o AD%MW/%& Wit

e

/Kku/e —ﬂm WCn@wpro/

v\ AS

AN sl o % WWA &Mw L’

&M/‘h‘b k] b//fb CWM W{;\AA.Q’(,[\W

WJMMLLWMQ/%PM% T(/\ym/m"/{?w i W)

WMWMCM‘

W@/lemaﬂmﬂ% Tl/l;ﬂmvtﬂfo’l?/)dm//fafaww

| e withdls, e % b bl fhe gt ot gk e
‘ﬁdﬂ sl yin TLW» becown e, m/u»\M bhesy ﬁ, provede Yo

ke o

i &www Al W the w@«w Foned fix ot of Yo Mﬂ& S

Wﬁ&@ da 7T o g st rne. T, w\%mmw%

W AJZ,LM‘ M:Lé@w/m MVLM wndy m W"

| pablec dolf. TThi b anofiie gompmiy,

S

o
A,V,A/iwa wvf«f V/Q condld be ‘@w‘ wl«vm V/e, 9 Wfi/g\
i more powr d\/ﬁ\,w&z\/ T\,wa,w wodess mwwui

fo~ Aoi

R S vvﬁ,,m}/nf Pheufre ouept Lowar Wity I quJiaw

odidions fuen thoiyr 2oplogpus. o cocdyinils, £ Ale, e, w\»wfww O
ndars ot o olnady vnplogeq |

L A

o dof ff"/&W&Wf

,,,,, {ufl g, 2ani), njo&mb@e@yo%y o e skl Lk of e fob)). Tl

_ oW {% Kead t. WW&M@M i o Jainkbag wpﬁamw?/‘“
Wo]&ﬁ?w

m mommﬁ%,,, wav%mﬁ oo,ja/ Y,

o

gy soorhen bidh Sasda b ot fiting crodibion,

. A01-4

A03-3

ot Tl




Sticky Note

Two good points on the economic costs of unemployment are made but only one on social costs. Another point on social costs would have lifted this to a band 3 answer.
AO1 4 AO3 3 =7
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Sticky Note

The candidate explains how the natural rate of unemployment can be reduced by supply side policies with some good use of diagrams. The failure of demand side polices to reduce unemployment below the natural rate is covered well with an integrated diagram. There is also some good evaluation in the closing paragraph. Overall this is a band 3 answer which just lacks a little detail at each stage of the essay – it is rather brief.
AO1 5 AO3 5 AO4 6 = 16
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Sticky Note

Two good points are made on the economic costs of unemployment and also a valid point on social cost which clearly explains how unemployment can create social issues. Another social cost was required to make this into a top band 3 answer.
AO1 4 AO3 4 =8
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Sticky Note

This is a strong answer showing a good understanding of the relevant theory with some evaluation. A little more detail on the failure of expansionary policies to reduce unemployment below the natural rate would have enhanced the essay eg the role of inflationary expectations. The evaluation and overall judgment could have been a little stronger. This is just about a band 3 answer.
AO1 5 AO3 5 AO4 6 =16
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Sticky Note

One social cost is explained at the start followed by an economic cost. A wider range of points was needed with ideally two social and two economic costs covered for a band 3 answer.
AO1 3 AO3 2 = 5
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Sticky Note

Supply side policies to reduce the natural rate of unemployment are explained but beyond that the essay does not introduce the theoretical issues required to fully address the question ie the expectations augmented Phillips Curve. A clear understating of the issues that are raised in the question are lacking as is any detailed evaluation. This is a band 1 answer.
AO1 2 AO3 2 AO4 2 = 6











4. UNEMPLOYMENT IN EUROZONE REMAINS HIGH

(@) Explain why unemployment creates social and economic costs. [10]

(b) ‘It is possible to reduce the natural rate of unemployment/NAIRU but not possible to
reduce unemployment below the natural rate/NAIRU.” Evaluate this statement. [20]
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6 (a) Explain the main ways in which countries can protect their domestic industries

from foreign competition. [10]
Band AO1 AO3
6 marks 4 marks
3 5-6 marks
Excellent understanding of a good range of
protectionist measures is given, probably
using diagrams.
It will be difficult for a very strong
understanding of protectionist policies to be
demonstrated without diagrams because
the answers will tend to lack depth.
It is likely that 3 main forms of protection will
be covered here.
2 3-4 marks 3-4 marks
Good understanding of a range of Good analysis of methods of protection
protectionist measures is given. is well developed in terms of how
domestic industries will be protected —
A narrower range of factors is given, or a answers link to higher market share,
wide range but they are lacking in depth of | profitability and so on.
analysis (weak diagrams or a lack of
explanation).
1 1-2 marks 1-2 marks
Limited analysis of methods of
protectionism.
Limited understanding of a good range of
protectionist measures is given. There is some attempt to relate or to
link the policies to the benefits to
Protectionist policies are identified, but domestic firms, but the answers tend to
there is limited development in terms of how | be general or simply based around
they actually operate. diagrams (i.e. output rises from Q1 to
Q2) without fully explaining how the
firms will actually be protected.
0 0 marks 0 marks

No understanding shown.

No valid analysis.






Indicative content:

Tariffs — increase prices for imports allowing local firms to be more competitive, make more
profit and expand market share.

Quotas/tariff quotas. The former restrict the absolute level of imported products, allowing
domestic firms to have a higher market share and to sell at a higher price than would
otherwise be the case. Tariff quotas allow only a limited number of imports in at reduced
tariff levels.

Subsidies to domestic firms — reduce costs increase profits and allow market share to be
expanded.

Precautionary bans drive up costs for imported firms or prevent them from selling altogether,
again allowing higher price and market share for domestic firms, increasing profitability.

Managed exchange rates drive up the prices of imports, allowing domestic firms to undercut
them more easily.

Regulations and standards, which favour domestic firms.

Allow other well-explained plausible policies.





6 (b) How effective are moves towards more free-market based systems involving internal

and external liberalisation likely to be in raising living standards in LEDCs? [20]
AO1 AO3 AO4
Band
6 marks 6 marks 8 marks
5-6 marks 5-6 marks 6-8 marks
Excellent understanding of Excellent analysis as to how | There is a well-balanced
both internal and external both internal and external assessment as to the value
liberalisation has been reforms can promote higher | of liberalisation in terms of its
clearly demonstrated. living standards/an excellent | impact on living standards.
analysis as to why the
reforms will not improve Answers are likely to look at
3 living standards. the circumstances in which
policies are likely to be more
There are probably 3 well or less effective (it depends
developed lines of argument | on and why).
here and will be likely to
draw on specific cases to Answers in this band will be
illustrate the theory. likely to have examples of
some of the impacts of
liberalisation.
3-4 marks 3-4 marks 3-5 marks
Answers in this band are Good analysis of the effect of | Answers in this band are
likely to focus on one type of | liberalisation (either good or | strong two sided approaches
liberalisation showing limited | bad) in terms of living which in the end fail to judge
2 understanding of the other. standards is given, but either | the actual significance of
Alternatively some the answer focuses too liberalisation in terms of
understanding of each may heavily on one at the raising living standards.
be shown, but not in expense of the other, or the
sufficient depth to warranta | depth of analysis is not
band 3 mark sufficient.
1-2 marks 1-2 marks 1-2 marks
Answer shows some Analysis tends to be Some counter-arguments
understanding of superficial outlining some are present, but they tend to
liberalisation but misses key | benefits or problems of be asserted rather than
elements from both. liberalisation but not tying analysed. Hence the depth
1 them back to living standards | of explanation that is
and not really showing a required for a higher band is
good understanding of the absent.
process through which
improvement/deterioration
will occur.
0 marks 0 marks 0 marks
0 No valid understanding No valid analysis. No valid evaluation.

shown.






Indicative content:

Internal liberalisation tends to involve policies such as privatisation, deregulation and
reduction of government sector debt via cuts in government spending.

External liberalisation tends to involve the removal of trade barriers, free movements of
capital, free floating exchange rates and liberalisation of FDI.

These policies broadly amount to a set of supply side reforms intended to strengthen the
underlying economic base of LEDCs. Hence:

Reduction of public sector debt should reduce crowding out (stimulating private sector
investment) and allow funds to be directed towards growth-promoting areas rather than debt
repayments. Hence growth can be promoted expanding choice for individuals and raising
living standards.

Privatisation and deregulation have similar aims in terms of increasing competition, driving
up efficiency and productivity and therefore supporting growth.

Likewise, external liberalisation challenges domestic firms to become more efficient and
outward looking, while FDI may create jobs and have positive supply chain spin-offs.

In all cases, GDP should rise in the long run and living standards should in principle rise.
China might be viewed as an example of a country that has had success through a process
of steady liberalisation — privatisation from the 90s onwards, WTO entry, liberalisation of
rules on FDI, but the process has been a very long one and has been carefully managed. A
similar argument could be made for some of the Asian tigers and Chile is often cited as a
South American success story to set alongside cases that have been far less successful in
their liberalisation attempts.

Generally although successful in MEDCs in many cases (UK, US more recently Cyprus), the
track record of liberalisation in LEDCs has been more mixed.

External liberalisation has seemed to allow for dumping of surplus agricultural products from
both the US and EU (dairy in Jamaica, groundnuts in Senegal etc.) creating food
dependency.

Cuts in government spending have led to reductions in spending on areas such as health
and education, damaging living standards in the short run. (Ivory Coast in the late 90s etc.)

Privatisation programmes have often fallen prey to maladministration allowing assets to be
sold off for below market value. And have resulted in increases in the prices of basic
products (water in Bolivia and other examples).

Overview

Liberalisation may be more appropriate for countries that have reached a platform for growth
than for the very least developed economies.

May depend on the pace of implementation — often criticism has been that they have been
introduced over too short a time scale.

Strong answers will have their own range of case studies — the examples above are only a
small selection of possibilities.
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Sticky Note

Three methods of protection are explained tariffs, quotas and subsidies. The answer is comfortably in Band 2 but the quality of the diagrams prevent band 3 being reached. Excellent explanations alone could result in a band 3 being awarded but in reality to fully do justice the question diagrams are an important part of a top answer. The diagrams in the answer are badly labelled or not integrated. The quota diagram is incorrect.
AO1 4 AO3 3 = 7
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Sticky Note

A limited answer which deals mainly with a free trade v protectionism argument albeit with some evaluation of the issues. Other policies associated with external liberalisation are not mentioned and there is nothing on internal liberalisation.  
AO1 2 AO3 3 AO4 3 = 8











_o/wymm, o bl "I‘PSF(w; JJWM
] B Lok M %omﬂi MO0 éﬁow“‘/\

eim)w ’m go dmesie T |

l{‘&.\S\’:‘\Q& &va Q Q‘L

Q}r @lt AI éMﬁ oo |
doa

1 fam s pasc %/A ﬂ«s b ;{omw
O \I/P(_‘_f M mort,

1" i






Write the two digit question
number inside the boxes next Answer
to the first line of your answer

i 3 T

T T T T T 1

T T 1

Which  premotes /Mj4w< Mﬁﬁ;zﬁ IEDCs

N dod  gyshny (hn

L . . | \
Ll e Tty el g

wdood  foo Wu\/mmy ;@W&o@zwa{g&a@fy )

: |

10




Sticky Note

This is an excellent answer with three protectionist policies explained. Diagrams are well integrated and contribute to the explanations. This a top band 3 answer and deserves full marks.
AO1 6 AO3 4 = 10.
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Sticky Note

An excellent answer which covers both internal and external liberalisation. The points made are well developed and evaluation is integrated throughout. Examples are used throughout and a reasoned judgment is forthcoming at the end of the answer. This essay is a top band 3 answer.
AO1 5 AO3 5 AO4 8 = 18.
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Sticky Note

Tariffs are covered well with an integrated diagram. Quotas are given little real detail, and there is no third method of protection introduced which makes this a band 2 answer. To gain a band 3 mark candidates really were expected to introduce three methods of protection.
AO1 4 AO3 3 = 7
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Sticky Note

The answer focuses entirely on aspects of external liberalisation covering the gains from free trade and specialisation. There is some evaluation of the effects on living standards making a valid point that investment in health and education are likely to be more important than free trade for the poorest countries. There is nothing on internal liberalisation which caps the mark available. This is a band 2 answer.
AO1 3 AO3 3 AO4 3 = 9.











6.

SOUTH AMERICA: MARKET-BASED REFORMS HAVE PRODUCED MIXED RESULTS

(@)

(b)

Explain the main ways in which countries can protect their domestic industries from
foreign competition. [10]

How effective are moves towards more free-market based systems involving internal and
external liberalisation likely to be in raising living standards in LEDCs? [20]











